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REAL NUMBERS

Real Numbers

1. For some integer , every even integer is of

the form

m

https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_EE1Mjik0d1I4


A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

m

m + 1

2m

2m + 1

2. For some integer , every odd integer is of

the form

q

https://dl.doubtnut.com/l/_EE1Mjik0d1I4
https://dl.doubtnut.com/l/_NZWikvhQXfFZ


A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

q

q + 1

2q

2q + 1

3.  is divisible by , if  is

A. an integer

n2 − 1 8 n

https://dl.doubtnut.com/l/_NZWikvhQXfFZ
https://dl.doubtnut.com/l/_PAnzRSyYaIVN


B. a natural number

C. an odd number

D. an even number

Answer: C

Watch Video Solution

4. If  of  and  is expressible in the

form , then the value of  is

A. 

HCF 65 117

65m − 117 m

4

https://dl.doubtnut.com/l/_PAnzRSyYaIVN
https://dl.doubtnut.com/l/_mBUVhQ5Vp4Lg


B. 

C. 

D. 

Answer: B

Watch Video Solution

2

1

3

5. The largest number which divides  and

, leaving remainder  respectively, is

A. 

70

125 5 and 8

13

https://dl.doubtnut.com/l/_mBUVhQ5Vp4Lg
https://dl.doubtnut.com/l/_ChyBhX71yexU


B. 

C. 

D. 

Answer: A

Watch Video Solution

65

875

1750

6. If two positive integers 
 and  are

expressible in the form 
 and 


 , where 
 are prime numbers,

then
HCF 

m n

m = pq3

n = p3q2 p,  q

(m,  n) =

https://dl.doubtnut.com/l/_ChyBhX71yexU
https://dl.doubtnut.com/l/_Vy5xJ2vjLDZO


A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

pq

pq2

p3q3

p2q2

7. If two positive
 integers 
 and 
 are

expressible in the
form 
 and 
 ; 


being prime numbers,
then LCM 
is

a b

a = pq2 b = p3q

p,  q (a,  b)

https://dl.doubtnut.com/l/_Vy5xJ2vjLDZO
https://dl.doubtnut.com/l/_6WFEau16nyMf


A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

pq

p2q2

p3q2

p3q3

8. The product of a non-zero rational number

with an irrational number is always a/an

https://dl.doubtnut.com/l/_6WFEau16nyMf
https://dl.doubtnut.com/l/_HQIFaLsa9qNy


A. always irrational

B. always rational

C. rational or irrational

D. one

Answer: A

Watch Video Solution

9. What is the least number that is divisible by

all the numbers  to 1 10

https://dl.doubtnut.com/l/_HQIFaLsa9qNy
https://dl.doubtnut.com/l/_s1ghqyptjJ4Y


A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

10

100

504

2520

10. The decimal expansion of the rational

number 
will terminate after how many

decimal places?

14587
1250

https://dl.doubtnut.com/l/_s1ghqyptjJ4Y
https://dl.doubtnut.com/l/_u5S78jFHVlww


A. one decimal place

B. two decimal places

C. three decimal places

D. four decimal places

Answer: D

Watch Video Solution

11. Write whether every positive integer can be

of the form  where q is an integer,

Justify your answer

4q + 2

https://dl.doubtnut.com/l/_u5S78jFHVlww
https://dl.doubtnut.com/l/_n0Cv5sF4aun2


Watch Video Solution

12. The product of two consecutive integers is

divisible by 2. Is this statement true or false.

Give Reason?

Watch Video Solution

13. The product of any
 three consecutive

natural numbers is divisible by 6 (True/false).

Watch Video Solution

https://dl.doubtnut.com/l/_n0Cv5sF4aun2
https://dl.doubtnut.com/l/_uSPlEO8SY7RY
https://dl.doubtnut.com/l/_tYvamEykRJRY


14. Write whether the square of any positive

integer can be of the form 3m+2, where m is a

natural number. Justify answer.

Watch Video Solution

15. A positive integer is the form of 3q+1 q,

being a natural number. Can you write its

square in any form other than 3m+1 i.e. 3m or

3m+2 for some integer? Justify your answer.

Watch Video Solution

https://dl.doubtnut.com/l/_tYvamEykRJRY
https://dl.doubtnut.com/l/_0imj0Y0PMaPE
https://dl.doubtnut.com/l/_ivEhVnpDTxab


16. The number 525 and 3000 are both

divisible only 3,5,15,25,75. What is HCF (525,

3000)? Justify your answer.

Watch Video Solution

17. Explain why  is a composite

number.

Watch Video Solution

3 × 5 × 7 + 7

https://dl.doubtnut.com/l/_ivEhVnpDTxab
https://dl.doubtnut.com/l/_BfXjr2yvXwtA
https://dl.doubtnut.com/l/_baVcwq0T6A9k
https://dl.doubtnut.com/l/_H4lFaQDUFiif


18. Can two number have 18 as their HCF and

380 as their LCM? Give reason

Watch Video Solution

19. Without actually performing the long

divison, find if  will have terminating or

non-terminating (repeating) decimal

expansion. Give reasons for your answer

Watch Video Solution

987
10500

https://dl.doubtnut.com/l/_H4lFaQDUFiif
https://dl.doubtnut.com/l/_ODeXlat9dG8C
https://dl.doubtnut.com/l/_yfO4l7LC8rDw


20. A rational number in its decimal expansion

is 327.7081. What can you say about the prime

factors of q, when this number is expressed in

the from  ? Give reason

Watch Video Solution

p

q

21. Prove that the square
 of any positive

integer is of the form 
 or 
 for some

integer 
.

Watch Video Solution

4q 4q + 1

q

https://dl.doubtnut.com/l/_yfO4l7LC8rDw
https://dl.doubtnut.com/l/_XQgEW1ByQRfF


22. Show that cube of any positive integer is of

the form 4m, 4m+1 or 4m+3, for some integer

m.

Watch Video Solution

23. Show that the square of any positive

integer cannot of the form 5q+2 or 5q+3 for

some integer q.

Watch Video Solution

https://dl.doubtnut.com/l/_3Lbz3WohacAT
https://dl.doubtnut.com/l/_GdqBuNQRRTwS
https://dl.doubtnut.com/l/_EJVWTMAng1i3


24. Show that the square of any positive

integer cannot be of the form 6m+2 or 6m+5

for some integer q.

Watch Video Solution

25. Show that the square of any odd integer is

of the form 4m+1, for some integer m.

Watch Video Solution

https://dl.doubtnut.com/l/_EJVWTMAng1i3
https://dl.doubtnut.com/l/_51bDpcybR7rm


26. If n is an odd positive integer, show that

 is divisible by 8.

Watch Video Solution

(n2 − 1)

27. Prove that if 
 are odd positive

integers, then 
is even but not divisible

by 4.

Watch Video Solution

xandy

x2 + y2

https://dl.doubtnut.com/l/_wHRt9rQenSZL
https://dl.doubtnut.com/l/_IQw1grtoSyWp


28. Use Euclid division algorithm to find the

HCF of 441, 567 and 693.

Watch Video Solution

29. Using Euclid's division algorithm, find the

largest number that divides 1251, 9377 and

15628 leaving remainders 1, 2 and 3,

respectively.

Watch Video Solution

https://dl.doubtnut.com/l/_J0qnRdyLdytB
https://dl.doubtnut.com/l/_vVGRgIkbaEba
https://dl.doubtnut.com/l/_O9uTUOwraurQ


30. Prove that  is irrational

Watch Video Solution

√3 + √5

31. Show that  cannot end with the digits 

or  for any natural number 

Watch Video Solution

12n 0

5 n

32. In a morning walk, three persons step off

together and their steps measure 40cm, 42cm

https://dl.doubtnut.com/l/_O9uTUOwraurQ
https://dl.doubtnut.com/l/_o58RcXo0zsRJ
https://dl.doubtnut.com/l/_Dy2OGbOGpXYW


and 45cm, respectively. What is the minimum

distance each should walk so that each can

cover thesame distance in complete steps?

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

3520

2520

4520

7520

https://dl.doubtnut.com/l/_Dy2OGbOGpXYW
https://dl.doubtnut.com/l/_wKdtoB5kDJa8


33. Write the denominator of the rational

number  in the form , where m,

n and non-negative integers. Hence, write its

decimal expansion without actual division.

Watch Video Solution

257
5000

2m × 5n

34. Prove that  is an irrational, where 

 are primes.

Watch Video Solution

√p + √q

p and q

https://dl.doubtnut.com/l/_wKdtoB5kDJa8
https://dl.doubtnut.com/l/_krYau4GFqZsx


35. Show that the cube of a positive integer of

the form  is an integer and

r=0,1,2,3,4,5 is also of the form 6m+r

Watch Video Solution

6q + r, q

36. Show that one and only one out of


 is divisible by 3, where 

is any positive integer.

Watch Video Solution

n, n + 2 or , n + 4 n

https://dl.doubtnut.com/l/_bPcELNtBG9Vq
https://dl.doubtnut.com/l/_rfl7Ztb29pkv
https://dl.doubtnut.com/l/_zbsYeT6ReVvg


37. Prove that one of every three consecutive

positive integers is
divisible by 3.

Watch Video Solution

38. For any positive
 integer 
 , prove that


divisible by 6.

Watch Video Solution

n

n3 − n

https://dl.doubtnut.com/l/_zbsYeT6ReVvg
https://dl.doubtnut.com/l/_CHl2x47yQX27


39. Show that one and only one out of

 is

divisible by 5, where n is any positive integer.

Watch Video Solution

n, n + 4, n + 8, n + 12 and n + 16

https://dl.doubtnut.com/l/_fcrDbPb69Ioj

